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L: 84.012m
R: 900.000m
T:0.982m
D: -42.054m

1€

ej - ul. Bursztynowa w Przodkow

| gminn

Profil podtuzny - Budowa drog

==3 g en
2 g |7
2L2| £ R
°Ss| 2 =
- = <3 — w,
2 5| £ R-ERE
S 3 =] S
o 2| 2 2 S: K
g £ < <
72} = <
3 & 3 :
Z - if
E
THE o g
3«@ E g E a
S| S : gl &
SEEL| 2 3 s 5
N ] 2 2| 3 5
2=z & s S| g s
B V' Gl - -] =3
s 5 Y I
C] £ =| E H
£
~o >~
= =g
€7 || gz :
e A N
o = |go| e =
E e |Bz|¢g s
& [ <Z S‘_ &
<
(@]
Q@
o o
= | 8 | — 88 e
L 9z16L  + ¥Z'L6L + 200 A L 0006 -
L 1z16L 1+ 9L'LeL +  S00 L 0008 -
L 9116l 4+ LL'LBL + 500 A L 0002 -
L L6l 4+ bLL6L 4+ €00- L 0009 -
L 9016l + LL'LBL + S00- A L 0005 -
L L0160+ bLL6L + €10 L 000 -
[=)
o
L 9606l + ¥0'L6L + 800~ A L 000 -
L 16061+ 00'L6L + 60°0- A A
L 9806l + SO'L6L + 6L0- L 0001 -
£
s g S
7] o (e))
| K +
o ~— (]
L
L 1806 + /606 + 910 A L 00700 —@
L 9,06l + €806l + 200 A L 0006 -
A - v,06L 4+ 0806l + 90°0- L 0S8 -
we/061=24
06°088+0=WM 1dN - ¢€,06l -+ 0806l + 100~ 4 - 0008 -
£ L 0806l + SL06L + S00 A L 0002 -
ES E E £
Sogd 8§
oPS D . . ) 28 .
=gV - /8061 + 9806l + 200 {4 Sa L 6879 -
S5 oc oY
< & N i
o L 606l + 86°06L + 10O~ A L 0009 -
L 9z16L 1+ LELEL + SO0~ A L 0005 -
V L up16L 4+ ovLeL + 100 L ovvy -
L G916l + 09'L6L + SO0 A L 000t -
L 90z6L  + 0261 + 100~ A L 000 -
L oy'z6l 1+ €vZ6L + €00 A
E‘ =
Y o 2-£
_eel
N 88w
- /8761 + 6876L + 200 - S & [ 000L A
o
o
(o0}
+
(]
L sze6L + ozesl + 200 A L 00700 —@
) 89€6L | 1896l | g0 | ) 0006 |
N\ zieer ) ooses [ SO K s0'68
L v0v6L  + LLYEL + €10 L 0008 -
£
© N
AR
°| o
a |
-
L 6zv6L  + 9€¥6L + L00- L 0002 -
L eyv6lL + SvvelL + €00~ L 0009 -
< SYv6L 1+ uvvel + v00 | EE - 0005 -
=)
3 vryelL T ov'v6lL + $00 A 8% VA
i
E' =
- Lev6L T OPYEL + €00~ A sRE L 000r -
oo
Q_OQRI
3::"
L /1v6L 4+ 8ZY6L + 010~ - L 0008 -
L /866l 1+ 96'€6L + 600~ - L 000z
L ope6l A+ zoeel + LL0- - L 0001 -
o
L 0ze6L 1+ PEEBL + HLO- L 060 4 R
+
o
L 676l 1+ ¥0'€6L + LLO- - L 00700 —@
L ov'zel 4+ ZvZel + 200- - L 0006 -
L 816l 4+ 06'L6L + 200~ - L 0008 -
A - z916L  + 99'L6L + $0°0- L 16,
L 9e'l6L A+ ¥'LBL + L0 - L 0002
Ec-g L 9606l 1+ SO'L6L + 600~ - L 0009
053 S ES5 EE
moo’ﬂ' <
N~ C AN - . . . 2 .
=R P - v806L -+ 2806l + v00- {4 S L z095 A
0SSP 7]
Mo . L'l':ﬂ:
IR
i A
14
L 8906l 4+ 9906l + 200 - e | ooos A
© N~
7| =
S| o
ey
-
V L €506l 4+ 9v06L + 800 - L 000t -
- 15061+ 9v06L + SO0 L 68°9¢ -
L 8y06L -+ Zv06L + 900 - L 0008 |
L cy06L 4+ 806l + 900 - A
L gc06L 1+ €£06L + GO0 - L 0001 -
o
o
(o]
+
o
L cco6l + Zz06L + 900 A L 0000 —@
X
o
e}
=) L gz06L + SZ06L + €00 - L 0006 -
L ¢z06L 1+ 6L°06L + P00 - L 0008
L gL06L 1+ ZZ06L + SO0~ - L 0002 -
L evoel L oogoel L oyp0- - L 0009 -
A < L108L T ezoeL T 8LO - 8¢/G A
L ¢006L  + /Z06L + 20~ A L 0005 -
= g £ £ . £ = £
©§8£u83 ) 8.68L | 9668l |, g0 | 8§ 85|l oovor |
222 i B | = 89 s ]
=083¢% N psesr | osest [ oov0r || 88 | SRG|[ reee
O .. 1 i 3[1 -
Y - - x
=)
L gee8lL  + S£68L + 000 L 000 -
V \\ ) 6881 | zue8l |, 100 ) 10z |
N oozgsr N oozsst N oz00 ] N 000z ]|
L 6088l + 20881 + €00 A L 0001 -
o
o
Yo}
+
o
L evusl + 28l + 100 A L 0000 —@
L 9,981 + 1898l + G00- A L 0006 -
L 6098l + ¥Z98L + GLO- A L 0008 -
L epsgl 4+ 09681 + LL0- A L 0002 -
[=]
L 9,481 + 96¥8L + 020 A L 0009 -
£
5|8
£ R
1]
- 60%8L T+ SZ¥8L T GLO- A = F 0008 -
L cpegl 4+ 16€8L + 600~ L 000t -
L 9,781 4+ 9rZ8L + 000 A L 000 -
\ L 6028L L v0Z8L L oo - A
A < zelgl T o818l T Y00 L celL A
L up18L 4+ wrL8L + €00 A L 0001 -
o
=
ESeE £ hs
© 0 . . S ©
mgggg L0'L8L l 90'L81L G0°0- 85 00°00
o3& : £ > 1 23 SN )
»>3C = 10181 o0igL | SO0 ki 96'66
dg o
L z,08L 4+ €208L + 100~ A L 0006 -
V - 1908 1 6508L + 200 L zgz8 -
L 6508l + 8508L + 000 A L 0008 -
L 0508l 4+ 1G08L + 000 A L 0002 -
% EE¢
) L zy08L 4+ 9608 + 900 A 88g | 0009 -
o 3o &
S8%
s M
o
) €08l | zeosk | o0 | ) 0005 |
N\ ccosr ) oieose |r00 K 116y
eESee ) £
SES B3 wog 081=24 s &
Segod 00" P¥E+0=WH 1dN L ocost + ovost + oro- 4 S& L cezy -
“ESOLO %‘ﬁ
.. .. L - —— - —— N- - | - - -
g a ze08L 677081 110 & 00°0
[ -G08l + 8508l + €2°0- L 65708 -
I L ep08L 4+ 99081 + €20 A L 000¢ -
a8
7] -
o | o
a |
-
L G508l + 0808 + G20~ A 0002 -
L 8908l + 0608 + 220~ A o L 0001 -
T
§s% 2
S]§ P
s L5
ax ©
L 0g0sl  + v608L + pLO- | L 00700 —@
- s /8
o 1
(‘\1,_‘ - 2608l T L608L T+ 200 A & i, - 00006 A
o
-G08l 4+ /608 + 200 - L 0008 -
>
- /118l + 60'L8L T+ 800 - 88 < (| 000z A
<Y
S Il -
o
L 0e18L 4+ ¥Z'L8L + SO0 - L 0009 |
H - 6e18L 1+ 6Z'L8L 4+ 600 L 5976
A I L zr18L 4+ ¥EL8L + 800 - L 0005 A
L zo18L 4+ $9'L8L + 100~ - L 000t -
£
© <
3|~
(o] -—
e g e E £ a | P
Y ¢6l8L Lk /67181 L ‘0- - Sl : 4
. E S % ¥0°0 §§ 00°0€
=383¢g K L0z8L T 90zeL T 000 1 59 - 1522 A
B3°S A %LI(_II)
- . (@]
4
L zeZ8l 4+ wrZ8l + L0 - L 000z
L ¢gz8L 4+ 6Z8L + LLO- - L 0001 -
>
£
§s& S
NG <@ I
V g8¢ +
- /z¢€8L 4 lg£'€8L + OL0- §Eﬂl - 0720 ©
L zvesl  + 15e8l + 600~ A ~ L 00700 —@
L cov8L 4+ L0¥8L 4+ 200~ - L 0006 -
q.s\o
v
©
y ) 89v8L | v9v8l | o0 | o § , 0008 |
(72} d
A N e N oesver Y00 I
-
y L Gze8L 4+ /z68L + €00~ - L 0002
/
1=
ESES // Ee
ggo'w.w- / FoL598L oorssl o £10 || S L zv'z9 A
O O «— ©
o - c9g8L  + e268L + 600- H| LM > - 0009 A
SO L x EE €
— ¥ [m] ’%82
8K o
| x5
Jx-
I L 9868l 4+ 8868l + 000 - L 0005 -
V [ - 698l 1+ ¥6'S8L 4+ LOO- L 1cop S
L 8658l 4+ Z0'98L + 00~ - L 000t -
£
[0 <
7| <
9 ~—
a | g
-
/ L 20981 4+ 91'98L + 600~ - L 0008 -
/ c
&8
L 91981 4+ LZz98L + SO0~ - 8|s F ooz A
a |y
-
s| &
2| <
o= (o)
- GZ98lL 4 0£98L + $00- - a(m F oooL A
o
o
+
o
L pe9gl + Sv9sl + LLO- A L 00700 —@
X
S
L ep98l 4+ 09°98L 4+ L0~ - s | zeell 0006 A
all OO o
il sgg
aeg
gl
ad
L zg98L 4+ 89'98L + 910~ - L 0008
L 19981 4+ S9'98L + 00~ - L 0002 -
L 02981 4+ 9,98l + 900~ - L 0009 -
L 6,981 4+ z8'98L + 200~ - L 0005 -
[ L 8898l 4+ 1898l + 00 - L 000t -
L 698l 4+ 0898L + €10 e | 1se
£ 3R
ESEE . . £ o<
F§888 y ooosk poorest | g0 | SE\| &% | oooe |
"o O M - - . . o . .
§N8c>co' N zoue. N ogosr [ 220 g? N 08'8C
LCea o =
iy
+ !
[ / - 181 4 $8'98L + €£0 L 052z A
L Ggz/8L 4+ 88°98L + 9€0 - A
L 6581 4+ ¥0/8L + LG0 - L 0001 -
o
o
o
+
o
L L L L L L L 1 L L L L L L L L L faYatll RaX| oo 10l 200 aYa¥ r\
& & & 5 & & & & & & & & & & & & & N §826+ €628+ ee o 86760 W
S S S S S S S S s} S S S S s} S S S S
N~ [(e] [Te) < [s2] N -— o [*2] [(e] [Te] < (323 N ~— o » co
()] (o)) » (o)) (2] (o)) » (o)) o] (o) [o0) [e0] [o0] 0] [o0) [e0) N~ N~
@
c
o) [0} o >
3 2 S 9 ©
= [} o > o) >
5 — o c 2}
o [(}) G_J o ; o
£ = C (O c —
S = > N g i) N
N c 2 = = 2 ‘D T
o 0] ) ? c c o) +=
c c L2 [0 ) o) P
S ] c c c o) €
q)" CD' 'N — o
N N Ne) <@ <@ 5] =
o 1 1 L Ll O X




